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Time alllo,ued! c3 hours Answer AllQuestions

l) a) .-ist the objectives ofllatm lllanT gement'

2)

b) l)i{L-e|rntiate llte two rnain typel of farm malagement decisiord$- -

c) Uxflain txe basic lirnctions ofmanagement i o '
'"."'t'tU -. -. '::

a) Why do you think keepirg lium reoords is important?

b) ftxpt?fn l(/hat is "'friking an ]ln'r'entr}rt"

c'iifflult 1$ 'Depreciriltion' and hor;t is it caused?

d) rSile ttLe differences t,etween Partial and Tot'tl Budgetilg

cjl ivhftt do you undersLand by 'iCGmparativ€ Advantage' in production

e, 'What e ahe assutllptiorN of [,i:'rear Programming?

Jrllr-eil\ ( orxmcrl JIlhe (latern+nl Llut Crapbical 'rpproach ollinear

pr ,g. nrnritrg is rlol nl'trl\:i comJirlible \ ilh produclion problems'

c) A liarmer rvishes io mix l'ertilizer that will provide a minimum of 15 units of.

nr ras[ ilO rrnits ofnitr,]les. ard 24 uniB ofphosphates Brand A provides 3 units

i,l ootol:. lr,nitofr'..ate,and J unils ofphosphale: il co$s Rs 120'unit Brand

lF;ru.i.esIun;,ofoollsll.5uritsofnitiate.a0d2urritsofphosphale it(osls
jl:l60/unit.

i) Iilxprcls the desircd s[ec]lioatioos as equations and inequalities

ii) If '/olr want to usc the Simpl0x Method for the above problem, draw the Initial

Siruplerr 'Tableau usirg lie iafi--rtrlation provided

l)



4)

s)

a) i]:ph in jorv do farmers enrountet'prodriction and technicai risks'.

b) lvlitat al1) different attitudcs oflium Eanagers towards risk?( Illustrate using

Eralr\s)

c) Iiiriefly Ciscuss the sorrces ofrisks allcl uncertainty in agricultlre.

ai r I r\ 'lo(:! probabilil\ a,.d {rpr\iauoDs help ir drcr.ion tnalirg proce,s)

b) rilhat do yolt understarla. by E)qrected Monetary Value (EMV)?

c) .fur Agr1llusiness firIn hels the opportunity ofmarkeling a new paokage offood
prod:Lot. It ha$ two possiblr: coursers ofaction;

il to test markel o a limited ,rcale or
il) to abandon ttre project conpletely.

The l'est rdeLrtrlet costs lls. 160,00t1to rhe firm. The consuner
likd,/ tc b3'positive or'negativr:' llfthe reaction to the test

'po!!rtive' lire firm could eitber market the food product natiolall
the prcjr,Ol completely. A latiotal laurrch might result in the
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I:tho tost marketing were to gl,re, 'negative' results the ijrm would give up the

projr;1. Gving up the Projeot irl any point result in a cont bution of
Iil$. 60,000 by the f rm.

l.nsl er the follorvinlg, using thr: abole information;

Draw a "Decjisi.on free'' to represent this situation,
relevant probabilities anLl {inancial values.

i'

iil lfyou are the Finrr's 1!'lanager, rccon,tmend a course of action for the
:lirrn on the basis of Elipected Monetary Values (EMD,



a) E:rplaiu the Protluction Posribillf Curve (PPC) and the Margiral Rate of

Pr'o duct Sub,stitut'-rt (MRPs).

b) !lo\a is thc Revenue Maxtmizalion combiDarioo ofOutput determined on lhe

Pro.J ;ctic,n Possibility Curve (PPC)?

c) l tre relationship betwe'3n r-wo llroducts Yl and Y' is givetr by the following

Yr = 20t0- 0.0l3Yz

If Price ol'Yr = Rs 10/ utrit, and

Price ol:Y, =Rs l2luoit, then

Find out the rnaxinum quadities of Yr

produc€d;

Yz that can be

Derive an Equation for the MRPS function; and

Find out the combination of Y1 & Y2 that will give tle Maximum

Tolal Rev'-'oue
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